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307 glz2+ol & 778,654 798,312 A 19,658
= 194,659
< 194,659
e 389,336
10 ALSISXAIEEE2EHEX 778,654 798,312 A 19,658
OZ=2g dutgtyl 9 23H XN
778,654,000 778,654
= 194,659
< 194,659
[ia 389,336
d2g K (XA) 424,000 428,200 A 4,200
307 glz2+ol & 49,000 60,000 A 11,000
05 RIZt2E = 15,000 30,000 A 15,000
OZxY 43t Zzd BZ2(FIH)
15,000, 000& 15,000
06 283 34,000 30,000 4,000
oZd=2d MAELH Jr2dl XA 34,000,000 34,000
402 RI2HXt20l M 355,000 368,200 213,200
01 212t 2 AL E = (REMTH ) 355,000 368,200 A 13,200
0Z2% B+ 2 JIsEL 355,000, 000& 355,000
406 JIEtA =01 & 20,000 0 20,000
01 JIEtAI20l A 20,000 0 20,000
o0Zzz24 XA 20,000,000& 20,000
d2g N3 (Ex) 533,838 1,223,065 A 689,227
< 160,151
e 373,687
307 glz2+ol & 303,838 332,869 A 29,031
< 91,151
s 212,687
05 RIZt2IE = 290,678 286,199 4,479
ozzgsg 2¢ N& 140,000, 000& 140,000
< 42,000
s 98,000
ORYZ=ZY 2 (1401L) 49,000,000& 49,000
< 14,700
s 34,300
OZ2Y ZZdaAeAM2Y 101,678,000& 101,678
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< 30,503
s 71,175
11T M 2XAIS EX 13,160 46,670 A 33,510
OLOX TR LA 1,480,0002 1,480
= 444
[ia 1,036
OLQNItZZ0d Wy E= 2,800,000 2,800
= 840
e 1,960
oZ2E K& B3 8,880,000& 8,880
< 2,664
[ia 6,216
402 RIZ2FXt20l 230,000 890, 196 A 660,196
< 69,000
[ia 161,000
02 RIZE X2 AL EZ (OIS ) 230,000 890, 196 A 660, 196
0ZEY M= L 52T 230,000,000 230,000
< 69,000
s 161,000
CLOSIAE 224 XA (2X) 78,500 99,750 A21,250
< 22,950
s 55,550
307 gl2tol & 76,500 99,750 A 23,250
< 22,950
s 53,550
11 ALS S RAEE = 76,500 99,750 A 23,250
OXY Leolths 43 XA 76,500,000& 76,500
< 22,950
s 53,550
402 RIZER20l ™ 2,000 0 2,000
01 U2 EALE X (XA ) 2,000 0 2,000
OMIMI=AEXAE JIsES 2,000,000& 2,000
COIME(THONAIE SAL HMA K& 147,600 215,250 AB7,650
< 29,520
s 118,080
307 21201 A 147,600 215,250 AB7,650
< 29,520
[ia 118,080
10 M2 SXNANEHE2IHEX 147,600 215,250 AB7,650
OLQMEAE SAX M2H
142,560, 000& 142,560
< 28,512
[ia 114,048
OMIt-=SXAIE SAX HRMA
5,040,000 5,040
< 1,008
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| o 4,032
COIQAANEEE(DIsEL) AIY 127,350 0 127,350
= 15,675
== 55,837
= 55,838
402 QI2H X201 M 127,350 0 127,350
= 15,675
= 55,837
= 55,838
02 CIZEXIEANSE X (0| XM THL) 127,350 0 127,350
OLQQLAUANLESE JsEY 31,350,000 31,350
= 15,675
= 7,837
= 7,838
OFZLoEESANHYH JsE2Y
96,000,000 96,000
= 48,000
= 48,000
LosssEla 29 ¥ 525,000 520,000 5,000
307 gizto| A 525,000 520,000 5,000
10 MM SAANEEHESIGHEX 525,000 520,000 5,000
okosg=la 89 525,000,000& 525,000
o2 29 N (BEX) 17,280 15,840 1,440
= 3,456
= 13,824
307 2I2t0| ™ 17,280 15,840 1,440
= 3,456
= 13,824
10 AISIEXAIEEHE2IHIEX 17,280 15,840 1,440
OLo=e=2X2 SALA HRIWAEH XS
17,280,000& 17,280
= 3,456
= 13,824
o= ge=x=x 18,800 21,100 A 2,300
201 et 9| 10,400 9,700 700
01 AP 2t 2] H| 10,400 9,700 700
OJlE24+2| 3,000,000& 3,000
OS2 24 8,000 x5 x90 Y 3,600
OLolHZUEZHM =2 HME 100,000 x134 1,300
ooza == 2 ol02d HE 2,500,000& 2,500
202 04 d| 8,400 11,400 A 3,000
01 2L I 8,400 11,400 A 3,000
oJIeg2x=a 100,000& x5H ~12& 6,000
OLo=EX R 100,000 x2H x12& 2,400
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25,479
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25,479
59,450
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144,883
18,628
43,460
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301 LetE2H S 206,971 208,000 A1,029
144,883
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43,460
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01 Al 2&H 062 206,971 208,000 A1,029
OFM=Z (X&) 206,971,000& 206,971
144,883
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43,460
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== 265,857
s 620,332
301 LEAZ 2,953,963 3,147,000 A 193,037
= 2,067,774
= 265,857
s 620,332
01 MEIBEZE 06z 2,953,963 3,147,000 A~ 193,037
OFel A3 2,953,963,000& 2,953,963
= 2,067,774
< 265,857
s 620,332
Fopelelzdl XN 128,976 128,976 0
= 103,181
< 7,738
[ia 18,057
308 XtXIEHHSOIA 128,976 128,976 0
= 103,181
< 7,738
s 18,057
1 3I2SOIHEHE & X 2 AL I 128,976 128,976 0
oFoelel=zdl XI& 128,976,000& 128,976
= 103, 181
< 7,738
e 18,057
HAsSEe M 2 ZAH XI& 2,302 2,302 0
= 1,151
s 1,151
301 LEHZ 2,302 2,302 0
= 1,151
s 1,151
01 MEI2EZE 06z 2,302 2,302 0
OZMASE A X 2,302,000& 2,302
= 1,151
s 1,151
EXIFuR 4,767 4,767 0
= 3,814
< 286
e 667
301 LPEXSF 4,767 4,767 0
= 3,814
< 286
e 667
01 MEIBEE 263 4,767 4,767 0
OFOMIEERI 7 XA 4,767,000 4,767
= 3,814
< 286
s 667
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gope2ds X& 8,630 10,827 A2,197
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6,041
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6,041
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SESEIS] 8,630 10,827 N2,197
OFMAEHET w2l X 7,980,000& 7,980

2,394
5,586
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oFMEE R HNMEST| X K&

650,000 650
195
455
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oI MEHHX A 260,833 306,320 N45,487
78,250
182,583
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301 LEtEH S 260,833 306,320 N45,487

78,250
182,583

M H

gH ol 260,833 306,320 N45,487
OFOH=Z FIt(410Y) 59,113,000& 59,113
17,734
41,379
ORF M =<(278Y) 116,760,000& 116,760
35,028
81,732
OB MNH=ZO0HQ ={HI(44¥) 26,400,000 26,400
7,920
18,480
O=Z XM It SHI(183%) 48,000,000 48,000
14,400
33,600
OFMAAE 2= 10,560,000 10,560
3,168
7,392

M EURLY EUNL

EURLY

EUNL

ZOHMSOAHT R (ASTHE) 15,850 23,750 AT7,900
4,755
11,095

M

301 LEENF 5,850 23,750 A 17,900

1,755
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= 5,850 23,750 A17,900
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1,035
2,415
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= 720
= 1,680
307 2Iz2to| & 10,000 0 10,000
== 3,000
= 7,000
02 QIZHA AAIE E X 10,000 0 10,000
OO A2 A 10,000,000& 10,000
= 3,000
= 7,000
SZSA0HC BESs kY 12,557 12,800 A 243
= 3,767
- 8,790
307 giztol A 12,557 12,800 A 243
& 3,767
= 8,790
0O AMEISANANEHESIHEX 12,557 12,800 A 243
O ZHoH el A |d SSEMN ESK =
9,920,000& 9,920
& 2,976
= 6,944
OHMAUAMNATHEAE SSEHMS ESK =
2,637,000 2,637
= 791
= 1,846
S EGHH2YE 248,000 248,000 0
307 2iztol & 248,000 248,000 0
10 MM SAANEEESIGHEX 248,000 248,000 0
O=x3ts9HdyH 29 248,000,000 248,000
AMAEWIAMNESHEH 24 262,700 262,700 0
307 QI2t0| ™ 262,700 262,700 0
10 A SXNANEEHESIHEX 262,700 262,700 0
OZHUMEQISXNRMH 29 262,700,000 262,700
HOQIEHOAIEHEH 24 115,000 83,500 31,500
307 2Iz2t0| & 115,000 83,500 31,500
10 M SXNAEEHESIGHEX 115,000 83,500 31,500
OXMAEOHHEHYAIEHE 2 115,000,000 115,000
ol E2XN 2 29 1,405,000 1,250,000 155,000
307 2iz2to| & 1,405,000 1,250,000 155,000
05 QIZ2tRE 2 1,400,000 1,245,000 155,000
o&Me=Ex2 2H 1,400,000,000& 1,400,000
11 A EXAIEEX 5,000 5,000 0
MATNE H22A35 AN2HNS 5,000,000& 5,000




2N
X ZH -
L= B
el

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZojoIEXE 2L (=) 62,300 66,800 A 4,500
< 18,690
s 43,610
307 gl2tol & 62,300 66,800 A 4,500
< 18,690
s 43,610
11T AIS S RAEE = 62,300 66,800 A 4,500
OFMA=SXAY XN (HHASA2 IsEEH)
62,300,000 62,300
< 18,690
s 43,610
ZOHY MOlna X3 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 IS AHEL 5,000 5,000 0
OOl Molma 5,000,000 14 & 5,000
SSHEIIIEE2Y 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
10 AL SXAIEEE 2 H EX 20,000 20,000 0
OZ2sMaEIE (cts2=H)22 20,000,000 20,000
OISAEZ2RX MRMLH XA 60,600 60,600 0
< 12,120
e 48,480
307 glz2+ol & 60,600 60,600 0
< 12,120
e 48,480
10 ALSISEXAIEEE2GHEX 60,600 60,600 0
OO OIBAIE SAL HRME (SR &)
42,840,000 42,840
< 8,568
[ 34,272
OFOC OISAIE SAXR HRMA(MEOS,
=39, HYALXE dH)
5,920,000 *30H 2 17,760
= 3,552
s 14,208
OO M E AL H XA 56,673 56,673 0
307 2201 A 56,673 56,673 0
10 AL SXNAIEEE2EH EX 26,000 26,000 0
OFMHLUESHAE s
1,300,000& »20H 26,000
MBS XTAHE 2 X 30,673 30,673 0
OZOHQITHE At (XM ZOHQIE 3, Al 22 01 Q!
&3l tOIE 3l ) 30,673,000 30,673
ZOHe 2 X HAX R 318,222 286,354 31,868
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307 glz2tol & 318,222 286,354 31,868
02 PIZHEHAHEE 81,950 138,950 A57,000
OFOHel LXtel &= 5,000,000& 5,000
OXHZMHe =238 & FsBEA
3,840,000& 3,840
OZOHOLS BB I( =R EME)
3,000,000& 3,000
Os=s0tel & NsE = &I+ 1,810,000 1,810
OQFoel JIsZIItHEl 2,500,000& 2,500
O Hoele ¢ J1d¢ Jt 4,000,000 4,000
OXHZHerel & Il &t 3,000,000& 3,000
Os=s0telel & &AL & 2,000,000& 2,000
OO0l L Xrel (IHH 10,800, 000& 10,800
O=0tel Xtd 20 W= 8,000,000& 8,000
OFMAISXAEH =% 10,000,000& 10,000
OANLEMAEZ =2 2L AL XA
27,000,000& 27,000
OUWZHOL S0tsSH 3| &It
1,000,000& 1,000
03 BIAHMHE2IHIEL 195,272 106,404 88,868
OXHZMLES 29 46,000,000& 46,000
OXMZEOMHL S SHES 2Z 13,000,000 13,000
OAZZMLES 29 26,975,000& 26,975
O=s0telgs 24 32,868,000 32,868
OFMHARR 29 16,429,000 16,429
OXZOMC =2EBSMHIA K& 60,000,000 60,000
04 DIZHHALALSE E X 41,000 41,000 0
OZO0HQ! BHOLE &AL 30,000, 000& 30,000
O T SeiHal 5,000,000& 5,000
OAIZZEOHR MESTUI 6,000,000 6,000
ool XK Js22 (=) 60,000 40,000 20,000
S 30,000
i 30,000
402 RI2FX=201 M 60,000 40,000 20,000
< 30,000
s 30,000
02 QI EASEZ (01X S) 60,000 40,000 20,000
OZMAURI =2AESHH JIs22
60,000,000& 60,000
= 30,000
i 30,000
o XM JIsE2H 25,000 10,000 15,000
402 2I2H X201 M 25,000 10,000 15,000
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01 2IZEH 2 A B (KR ) 25,000 10,000 15,000
OQFMRIF XgHH JIsEL
10,000, 000& 10,000
OFMe XEHH JIs22 15,000, 000& 15,000
ZOHAAN=AIE 298 K& 1,156,970 1,029,967 127,003
= 809,879
< 104,127
[ 242,964
307 21201 A 1,156,970 1,029,967 127,003
= 809,879
< 104,127
e 242,964
10 ALSISXAIEEE2IHEX 1,156,970 1,029,967 127,003
OFOMAHNFAL(St52l) 22 X
1,156,970,000& =104 & 1,156,970
= 809,879
< 104,127
[ia 242,964
ZOHANFAIE MEXEZH AR 49,735 0 49,735
= 34,815
< 4,476
[ 10,444
307 21201 A 49,735 0 49,735
= 34,815
< 4,476
e 10,444
10 ALSISEXAIEEE2GHEX 49,735 0 49,735
OZOMANFAIE HEXN-H LSS
49,735,000 « 14 & 49,735
= 34,815
< 4,476
[ia 10,444
ZOH=ALE 29 X3 (=HI) 86,479 78,909 7,570
< 21,279
e 65,200
307 21201 A 86,479 78,909 7,570
= 21,279
e 65,200
10 ALSISEXAIEEE2EHEX 86,479 76,059 10,420
OFHMAANFAIE SAX HRIHLHI
46,646,000 « 14 & 46,646
< 9,329
s 37,317
OFOMANZAIE SAX C2A4H EF2(HE2
229 39,833,000 *1JH £ 39,833
< 11,950
[ia 27,883
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= 169,439
< 50,832
s 118,607
04 DI Z22XREE S 338,878 433,538 A 94,660
OO LIl X2 (LBt dRtel)
338,878,000 338,878
= 169,439
< 50,832
fia 118,607
ZONIY el K& (SXLXtel) 195,570 198,674 A 3,104
= 97,785
< 29,336
s 68,449
307 gl2tol & 195,570 198,674 A 3,104
= 97,785
< 29,336
s 68,449
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= 97,785
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s 68,449
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